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7. 'Which of the following answers is right?

(A) A consumer maximizes utility by choosing consumption bundles that sets the marginal rate of
technological substitution equal to the relative price.

(B) Economic profit is equal to total revenue minus total cost, with total cost measure as the
opportunity cost of production, including explicit costs supplied by the firm’s owner, and implicit
costs bought in the market.

(C) The marginal cost curve intersects the average variable cost curve and the average total cost
curve at their minimum points.

(D) A subsidy results in inefficient underproduction, which shrinks producer surplus and
consumer surplus but creates a dead weight loss.

8. GDP can be computed as the sum of

(A) all sales that have taken place in an economy over a period of time.

(B) the total expenditures of consumers and business over a period of time.

(C) all the output produced by national citizens over a period of time.

(D) the total expenditures of consumption, investment, government expenditure on goods and
services, and net exports over a period of time.

9. Which of the following is NOT included in the M1 measure of money?
(A) checking deposits (B) traveler's checks (C) savings deposits (D) currency

10. If the number of people unemployed is 100, the number of people employed is 1000, and the
working-age population is 1400, then the labor force participation rate is
(A) 78.6 percent (B) 71.4 percent (C) 64.3 percent (D) None of the above

11. At the end of last year, the CPI equaled 120. At the end of this year, the CPI equals 132.
What is the inflation rate over this year?
(A) 6 percent (B) 10 percent (C) 12 percent (D) None of the above

12. A firm's long-run average cost curve

(A) shows the lowest attainable average total cost of producing any level of output when the plant
and labor are variable.

(B) is derived from a series of short-run average cost curves.

(C) tells the firm which plant size to use and which quantity of labor to use to minimize the cost of
producing any level of output.

(D) all of the above

13. Suppose the economy is experiencing a recessionary gap. In the long run, if aggregate
demand does not change, the following events happen: the money wage rate )
unemployment » and the price level

(A) falls; rises; falls (B) falls; falls; falls (C) rises; rises; rises (D) rises; falls; rises
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3. (20 %)

In the country of Midland, autonomous consumption expenditure is $60 million, and the

marginal propensity to consume is 0.6. Investment is $110 million, government

expenditure is $70 million, and there are no income taxes. Investment and government

expenditure are constant—they do not vary with income. The nation does not trade

with the rest of the world.

(A) Please explain and calculate MPC and APC when real GDP is $800 million? (4 24)

(B) Draw the aggregate expenditure curve. (2 4%

(C) What is the autonomous aggregate expenditure? (2 4°)

(D) What is the size of the multiplier in Midland's economy? (3 )

(E) What is aggregate planned expenditure and what is happening to inventories when
real GDP is $800 million? (4 4°)

(F) What is the economy's equilibrium aggregate expenditure? (5 )




